Instructions for
Linbar"and Multibar’ DA
Part #104-1, BL104-1,1304 e T

i i 1 - .C h ., Pl ia, C
Fits Dyna Wide Glide from 1991-present. 208 ot P A0
Will only fit with stock forward controls.

1. Remove forward controls and install the two brackets with the
hole pointing forward and down behind the forward controls.
Do not tighten bolts yet.

2. Install Linbar / Multibar on the top using 3/8 x 1 ¥4 bolt, then
install left and right side using 3/8 x 1 %4 bolt.

3.  Tighten all bolts to manufacturer’s specifications.
4. Hardware included:
-3 Hex bolts 3/8 x 16 x11/4

-3 Nylon lock nut 3/8 x 16
-6 Sae flat washers 3/8

*Bar width: 35”

N

Front Linbar patent D361311
Front Multibar patent D548142



